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MEDIA STATISTICS & PROBABILITY

Probability and statistics are presented through the media in a variety of different contexts.
STATISTICS is the_collection and analysis of ofa fo

STATISTICS are collected from _fea/ -/, fe ederlfs ,/.S/Z{::f/é_'i“

Like probalbility, stafistics /1e/o oszclrcf secce s of fudture evesnts

EXAMPLES OF STATISTICS

Cpenten pols , Cerzsus colera, yeather rgpovTs,
Gantbing 0FEL | spors ok (feam data, play®” ./

EXAMPLE Favourite Music Statistics e TR
&1 . . : 3 Rock 45
ocal radio station surveyed 200 students from one high school
to determine their favourite type of music. The results are shown Raip 35
in the table. Gouniey 0

a) Express each percent as a decimal, and as a fraction in lowest terms.

Kock Ray Courrty
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b) If there are 4000 high school students in the city, how many of them would you expect to like
each type of music?

Reck Aay Lovntry
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c) s it possible that the poll might not be accurate? What factors could have influenced the
responses?
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EXAMPLE Statistics and Probability

Sports Survey

All students at a high school were surveyed about two sports. 600
The results are shown in the graph. .

400

a) Express each as a decimal.
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b) What is the probability that a student chosen at random likes basketball, but not football2

Vhastetball) = 190 = 1%
/95

c) What is the probability that a student chosen at random likes either basketball or football, but

not both?
2 (haspet ball 28 ot = (170%340)
s
= 520
"nNis
= OY or ¥4 Z

d) What is the probability that a student chosen at random likes basketball or football or both

P (Bustettnl], teotbal!, or both) = (190+ 39p 1 5eS)
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